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General Instructions :

Please read the following instructions carefully and follow them.

() This question paper contains 13 questions. All questions are

compulsory.

(it)  This question paper consists of three Sections — Section A, B and C.

(ii1) Section - A contains 8 questions (1 to 8) of 2 marks each. Answer to

these questions should be completed within 50 words each.

(tv)  Section - B has 3 questions (9 to 11) of 4 marks each. Answer to these

questions should be completed within 100 words each. Answer of MAP

question should be attempted accordingly.

(v) Section - C has 2 questions (12 to 13) of 6 marks each. Answer to these

questions should be completed within 170 words each.

(vi)  There is no overall choice in the question paper. However, an internal

choice has been provided in some questions. Only one of the choices in

such questions have to be attempted.

.59/1/1 3

P.T.O.



WE—h

1. (a) Tl fova 3¢ & 91g 3mdeht g0 09 & <o § Aol-Tietm agM 9 whrentor §

HETICT ¢ =Ted 33T T fehgl €1 e shi SATEAT HITT | 2x1=2
e

(b) & T TS IMHIH & et Towe 20207 st s i | 2

2. TR o I H HHT % TEA&T bl Teheg o1 SCTETvil hi HETadT ¥ ey | 2x1=2
3. #ficteht H STt Herd < fehegl g1 SRUT i IR HINT | 2x1=2
4. <o aRET § wfte fore ST Tt foheel wTR <9 o A Al | 4x Y% =2
5. weientur o fohegl  ShTvT ot ferversor Hifre | 2x1=2
6. 1969 H g T o fadToH o fohgi al RO b1 forgetyor HifT | 2x1=2
7. 1975 H STAYRTI TRIFV gRT S “HeqUi sh1fe ST STALRon 61 fargeryor Hifu | 2

8. g H ol ugel fHefi-Toft Tenr i fr firg 7 53 7 e s o1 ferveryur shifv | 2
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SECTION - A

1. (a) Explain any two steps taken by the US that aided the integration of

the European States after the Second World War. 2x1=2
OR
(b) Explain the ‘Vision 2020’ of the regional organization ‘ASEAN’. 2

2. Show with the help of any two examples the interference of military in the

administration of Pakistan. 2x1=2
3. Highlight any two reasons for the ethnic conflict in Sri Lanka. 2x1=2
4. Name any four countries that are included in ‘South Asia’. 4xY%=2
5. Analyse any two causes of ‘Globalisation’. 2x1=2

6. Analyse any two reasons for the split of the Congress Party in 1969. 2x1=2

7. Analyse the concept of ‘“Total Revolution’ as visualized by Jai Prakash
Narayan in 1975. 2

8.  Why did the first coalition government at the Centre in India not prove to

be stable ? Analyse the major reason. 2
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9. Iyt o feredl 2 31Tiien aftomdt < s KT |

-4

2x2=4

10. 1975 H Hf¥d ATTGeRTA o S FefT GEhR g hl 78 fohedl =R sumefa™ o1 9o

i |

4x1=4

11. ¥Rd o feu e TeHifoes War-amfes § = o & (A), B), (©) e (D) g e m
2 | = & T IR o ITTYR W 38 TeaTT a1 39k Jal 919, TN shl T8 SIHhRT <hl
THY T AT TaTd 3181 1 3TY-T 3R qfEdent # i fou 7w g & 3rgEw fafaw :

TeHIfeh WE-HHe

Haferd 3eR

S hl AH

(i)

(iii)

(iv)
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SECTION - B

9. Explain any two economic consequences of Globalisation. 2x2=4

10. Describe any four excesses made by the Union Government during the
period of emergency imposed in 1975. 4x1=4

11. In the given political outline map of India, four states have been marked
as A), , (© and (D). Identify these states on the basis of the
information given below and write their correct names in your Answer
Book along with the respective serial number of the information used and
the concerned alphabet as per format that follows :

... POLITICAL OUTLINE MAP OF

INDIA

S. No. of the Concerned Name of the
Information used Alphabet State
()
(11)
(111)
(1v)
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() 8 TS" &l 1952 H e il w1 e &) o |

(i) I8 TG 1957 W H1UF IS I SEAT ITed el &l T |

(iii) o8 TS &1 T HAF Ul o TS AT . HHIS 1967 U FAE FRTTCY |

(iv) % TSI &1 T 3T TH, T TH° 3h1 HaTad bl 97 g3 | 4x1=4
e : T8 T hae givantera wltenfiat o foTu yo w@n 11 F WE W E |
freferfiaa wei o 3o ferflaw |

11.1  9RG H Yo 37 919 fopd ad am=1 gu e ?

11.2 1957 §H & TS H i Tl ! Tgud ST el 5377 o7 ?

11.3  “3TRIT T, 1 W <hY Shglad 1 S fohd TS H 31T AT 7

11.4 M = Teifae aél 1952 8 1967 T g H a1 | W& 7

4x1=4

TWE -1

12. (a) < gr1 3l srefeewn i faswfaa = & fau 331 U fhdl o R wedi

ST ST | 4x1% =6
Frera

(b) U T h! TUeh FSTEd T3 I It feheg] IR hIeh] <h! AR HIT 14 x 1% = 6
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(1) The State which was not under the rule of the Congress Party in
1952.

(1) The State where the Congress Party could not win majority in 1957.

(111) The State from where K. Kamraj, a Veteran leader of the Congress

Party, lost election in 1967.
(iv) The State from where the phrase ‘Aaya Ram, Gaya Ram’ originated.
4x1=4

Note : The following question is for visually impaired candidates only

in lieu of Q. No. 11.
Answer the following questions.
11.1 In which year was the first general election completed in India ?
11.2 In which State had the Congress Party not won majority in 1957 ?
11.3 From which State did the phrase ‘Aaya Ram, Gaya Ram’ originate ?

11.4 Which political party remained in power at the centre from 1952 to
1967 ? 4x1=4

SECTION - C
12. (a) Explain any four steps taken by China to develop its economy. 4 x 1%2 =6
OR

(b) Explain any four factors that make the European Union a strong

organization. 4%x1%2=6
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13. (a) UB 99 &= 39PR HifSe {58 v 6 1R teHifaesns arféal & = 1989
UTETd HEH T 9 IhT 1 | 3x2=6

YA

(b) 2014 % FTg TRAA I T 3T Fhegl g Tg@ Feettdl i IATR HITTT a2 v
Toregl &1 ShoaTureh Rl STIshHT & a9 feiftay ST areqe # wigettsti & g & feu g |

2x2+2x1=6
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13. (a) Highlight any three areas where consensus has emerged among most

of the political parties in India after 1989. 3x2=6

OR

(b) Highlight any two major changes that took place in Indian politics
after 2014 and also name any two welfare programmes that made

women the real beneficiaries. 2x2+2x1=6
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